GreenSpeed

GT20RS Rear Rack Fit Kit
(GS600139)

greenspeed-trikes.com 800.945.9910



GreenSpeed

ITEM NO. PART NUMBER DESCRIPTION QY.

2 17000860 RACK, STAY 195mm 2

*RACK NOT INCLUDED* 3 WC000159 HW, M6 THUMB NUT 2
GS600105 4 WHO000178 Méx1.0 X 35mm SHCS FULL THREAD 2

5 WHO000007 Mé6x1.0 Nylon Locknut SS 2

M5x0.8MM STAINLESS STEEL NYLON-
é WH000004 INSERT LOCKNUT (T1000252) 2
7 WHO000055 Mé Flat Washer w/12mm OD, SS 2

*Rack load capacity: 50lbs
*Adjust frame shock pressure based on combined load
*Do not exceed trike combined load limit of 3001bs

1 Uninstall upper seat stays and hardware.
Remove seat stay pins and disengage upper seat stays from lower seat stays.

Upper seat stay
hardware

Upper seat stay

greenspeed-trikes.com 800.945.9910



GreensSspeed

2 Slide 19mm rack clamps over lower seat stays leaving bolts loose.

3 Attach rack and seat stays to seat frame using the M6x35 bolts, M6 washers, and
M6 nuts.

greenspeed-trikes.com 800.945.9910



GreenSpeed
4 Attach rack stays to 19mm rack clamps and rack. See parts list for fastener specifications.
’4\
(= ‘ ‘ —
, ’\\\\ £ 47 ’

greenspeed-trikes.com 800.945.9910



